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OdM=E =ZH| 600, 000& *5IH 2 At 3,000
OHEAHO EHHAZ 2A=E
100,000& «3& +53] 1,500
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03 AIMZ=X AR =] 20,000 20,000 0
OHZEZ3AMYFA 20,000,000& 20,000
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—2HAL 18,552
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—3238= 140,000& 128 1,680
—AtR2telH 200,000& =122 2,400
—E£& 0| 50,0003 8 »53] 2,000
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MEHSDAY 29 16,600 16,600 0
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02 QlztH & E X 16,600 16,600 0
OHdEsNaE2S 415,000 84 A5 16,600
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202 04t 6,000 6,000 0
01 201 bl 6,000 6,000 0
OZ 01| 6,000,000 6,000
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307 21201 & 60,000 0 60,000
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| 8,820
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= 18,000
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301 YA 286,860 248,060 33,800
= 18,000
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1sH 2S2S2a2 286,860 248,060 38,800
OttolfjsE g 2o 286,860
—84e 30 189,000
- NEX o1 43,000,0009 %1% 43,000
&4 (A3) o1= 38,000,0008 2% 76,000
& (83) o1 35,000,0008 2% 70,000
—ZHlR Yl 20,000
~919l 155 20,000, 0008 *14! 20,000
= 8,000
= 2,000
— 1l = 7,360
SLE(ES) 372,000 *58 1,860
2012 250,000 *4% 1,000
SEEE 250, 0008 *52 %23 2,500
g 200, 0008 5% %23 2,000
— =2l 52,300
S 300, 0002 * 122 +52 8,000
H3l & & I 2,000,000 *43] 8,000
IYHXE Y] 2,000,0009! %33 6,000
HAF X E Y] 20,300,000 *13] 20,300
—=4 Anz 416,666+ 122 5,000
-Ry duz 900,000 * 128 10,800
—JIEt RRAYH S 200,0009! %128 2,400
HoESY Mew AY 10,000 0 10,000
405 XtoHE S| 10,000 0 10,000
01 AL S E 3 S| 10,000 0 10,000
OHNOIESH B 7Y 2,000,008 *574 4 10,000
24 HLUAY SAAY 150,000 0 150,000
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HAH MENSIR ZTEH SE3M 80,000 0 80,000
= 40,000
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= 40,000
= 40,000
01 Al Hl 79,280 0 79,280
OXa HEN=SIE e SE3AM
39,640,000& #2702 79,280
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03 A2 2 01| 720 0 720
Mo MBHSDY ZUEY SN
80,000,000 *0.9% 720
Na MEHSSE HLULADE SHEAMS 70,000 0 70,000
401 Al EHIZ 2OHY| 70,000 0 70,000
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OXd ME33 HUAZE SESA
61,6621, 125m 69,370
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HEMEIISHE 50,000 0 50,000
R2JI=d8E= 50,000 0 50,000
01 JISEES 50,000 0 50,000
OXM=sdslI3a &85 50,000,000& 50,000
HE2AZU (A== D)(IIEHIIEH 11,640 11,640 0
Jl23d| 11,640 11,640 0
£AM Jl=3Hl 11,640 11,640 0
201 Et2dd| 4,320 4,320 0
01 AtR2tel 4,320 4,320 0
OJlzge=d 4,320,000& 4,320
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